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Anatomy and Physiology

 EXAM 2

PART 1 : MULTIPLE CHOICE - SELECT THE BEST ANSWER  FOR EACH QUESTION!  2 PTS  EACH.

1.  The type of bone cells that directly produce/build bone matrix are ____________


a.  osteoclast


b.  osteogenitic


c.  osteoblast


d.  mesenchymal


e.  osteocyte

2.  The type of cartilage that is located in the trachea is _______________


a.  fibrocartilage


b.  hyaline


c.  elastic


d.  dense irregular connective tissue

3.  The site of blood cell formation in long bones of adults is the ____________


a.  diaphysis


b.  articular cartilage


c.  medullary cavity


d.  epiphysis


e.  articular cartilage

4.  Which of these bone structures would be “tiny” hairlike structures for communication?


a.  osteocytes


b.  lacunae


c.  canaliculi


d.  lamallae


e.  trabeculae

5.  The membrane that surrounds the diaphysis in long bones is .......


a.  perimysium


b.  endomysium


c.  endosteum


d.  periosteum


e.  meriosteum

6.  Which of these would NOT be found in compact bone?


a.  canaliculi


b.  lamallae


c.  osteocytes


d.  osteums


e.  trabeculae

7.  The primary ossification center during endochondral ossification is located in the ______


a.  epiphysis


b.  metaphysis


c.  diaphysis


d.  articular cartilage


e.  the epiphyseal plate

8.  Which of these bones would not be formed from endochondral ossification?


a.  femur


b.  tibia


c.  radius


d.  scapula


e.  phalange

9.  The development of bone from mesenchyme/fibrous connective tissue is called ........


a.  endochondral ossification


b.  zone of hypertrophy


c.  zone of resting 


d.  intramembranous


e.  zone of proliferation

10.  Which of these would be false about bone?


a.  articular cartilage is for shock absorbing


b.  the epiphyseal plate is in children


c.  PTH causes calcium to leave the bone


d.  medullary cavity contains red marrow in adults


e.  the epiphyseal line is a synostosis

11.  Which of these is NOT a cranial bone marking?


a.  temporal process 


b.  sella turcica


c.  crita galli


d.  foramen magnum


e.  zygomatic process

12.  The types of bone found in the wrist and ankles are ___________


a.  long bones


b.  irregular


c.  short 


d.  flat


e.  sesmoidal

13.  Which of these bones contains the manubrium?


a.  occipital


b.  sterum


c.  scapula


d.  lumbar vertebrae 


e.  maxillae

14.  Which of these is a bone marking/structure of the temporal bone?


a.  sella turcica


b.  external styloid trochanter


c.  infraorbital foramen


d.  mastoid process


e.  crista galli

15.  The bone marking/structure called the capitulum belongs to which bone?


a.  sphenoid


b.  scapula


c.  radius


d.  humerus


e.  ulna

16.  The anterior crest is located on what bone?


a.  tibia


b.  radius


c.  femur


d.  scapula


e.  fibula

17.  Blood vessels and nerves that supply your upper lip pass through........


a.  foramen magnum


b.  mental foramen


c.  transverse foramen


d.  infraorbital foramen


e.  none of the above

18.  Which of these is found on the scapula?


a.  coronoid process


b.  corocoid process


c.  styloid process


d.  pubis process


e.  olecranon process

19.  The bone marking that makes up the inner part of your ankle is the _____________


a.  medial malleolus


b.  tibia tuberosity


c.  greater trochanter


d.  linea aspera


e.  lateral malleolus

20.  Which of these classifications contains a ball and socket joint?


a.  cartilaginous


b.  fibrous


c.  amphiarthrotic


d.  synovial


e.  synarthrotic

21.  The movement caused by the contraction of your triceps that increases the angle between 
bones is called?


a.  extension


b.  flexion


c.  abduction


d.  adduction


e.  rotation

22.  Sticking your chin forward would be  _________________


a.  pronation


b.  protraction


c.  supination


d.  retraction


e.  prostrating

23.  The movement this is NOT part of circumduction is _______________


a.  extension


b.  flexion


c.  abduction


d.  adduction


e.  rotation

24.  Synchondroses is classified by what two terms?


a.  fibrous; synarthrotic


b.  cartilaginous; synarthrothic


c.  fibrous; amphiarthrotic


d.  cartilaginous; amphiarthrotic


e.  synovial; diarthrotic

25.  The type of synovial joint that is biaxial = _______________


a.  ball and socket


b.  condyloid


c.  gliding


d.  pivital


e.  hinge

26.  The type of articulation that is amphiarthrotic and fibrous is _____________________


a.  suture


b.  synostosis


c.  syndesmoses


d.  symphysis


e.  gomphosis

27.  The connective tissue wrapping that surrounds EACH muscle fascicle is the....


a.  endomysium


b.  perimysium


c.  epimysium


d.  exomysium

e. Endosteum

28.  Pick the correct order of graded muscle response.


a.  muscle twitch; tetanus; fatigue; wave summation


b.  muscle twitch; wave summation; tetanus; fatigue


c.  muscle twitch; wave summation; fatigue; tetanus


d.  muscle twitch; tetanus; wave summation; fatigue;


e.  none are correct

29.  When the muscle tension (force) is greater than the load (weight) on a muscle a ........ contraction occurs.


a.  isotonic


b.  isometric


c.  isomarginal


d.  isobaric

30.  The source of ATP with the longest duration would be from...........


a.  aerobic metabolism


b.  anaerobic metabolism


c.  creatine phosphate


d.  cellular ATP stocks


e.  none of the above

31 .  The part of a muscle twitch that involves new impulse to the T-tubule is __________


a.  origin


b.  insertion


c.  latent period

d. contraction

e. relaxation

32.  Which of these statements is false about muscles?


a.  muscle twitch’s relaxation occurs when calcium returns to the S.R.


b.  wave summation occurs after a secong stimulus occurs before relaxation


c.  tetanus is the maximum contraction = plateau

d. fatigue is when you run out of ATP

e. an optimum overlap of actin and myosin = the best contraction

33.  Muscles that reverse (opposite) a particular movement are called.........


a.  synergists


b.  antagonists


c.  fixators

d. secondary movers

e. reversors

34.  The deltoid muscle is named for its ____________


a.  actions


b.  sizes


c.  number of insertions


d.  locations


e.  direction of muscle fibers

35.  The biceps, triceps, and quadriceps are named for their _________


a.  number of locations in the body


b.  number of origins in the body


c.  number of insertions in the body


d.  number of joints they cross over in the body

PART 2.  MATCHING SELECT THE BEST ANSWER FOR EACH NUMBER 2 PTS EA

 sliding filament theory (chapter 10)

51.  sarcolemma


1.  the “thin” myofilament

52.  troponin



2.  wraps around myosin

53.  T-tubule



3.  contains the storage of calcium within the cell

54.  Sarcoplasmic Reticulum
4.  “shocks” the S.R. 

55.  motor neuron


5.  another name for muscle membrane

56.  Ach



6.  attachment site for calcium; connects to tropomyosin

57.  AchE



7.  carries impulse; releases Ach into synapse

58.  actin



8.  covers the binding sites of actin; attached to troponin

59.  tropomyosin


9.  neurotransmitter that goes from the motor neuron to the muscle 

60.  myosin



10.  the "thick" myofilament






11.  enzyme that causes relaxation

PART 3.  DISCUSSION QUESTION - 10 PTS 
Fill in the table of the comparison between muscle groups




skeletal


cardiac


smooth

1.  voluntary or

involuntary

2.  number of

nuclei

3.  location

4.  appearance

5.  type of 

contraction

